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[bookmark: _Toc134283465]INTRODUCTION
An EA is required on the MT5 platform. The main functions of the EA are as follows. 
· Firstly, it has to be able to enter positions based on a set criterion
· Secondly, it has to be able to work on all instruments that have been selected for trading.
· Lastly, there will be lines drawn manually by user. The EA has to be able to delete lines and send alert once a line is deleted.
The EA is required to be able to run on a VPS (Virtual private server).
The EA will only be run on one timeframe, the 1min chart. 
[bookmark: _Toc134283466]Input settings
By input settings, we are referring to the tab below. NOTE THAT WE ARE MERELY REFERRING TO INPUTS TAB AND NONE OF THESE NEEDS TO BE DRAWN ON THE CHART. 
[image: ]
(ignore the above specifications, the image is taken merely for reference.)
The following are required to be listed as a variable under input settings of the EA. 
[bookmark: _Toc134283467]%Of balance to be entered 
This is extremely important as it will be used to calculate the number of lots to be entered. A good reference would be,
[image: ]

[image: ]
[image: ]
The balance is being referenced here. 
How this works is as such. If I have a balance of say $1000, and if I input the risk as 1%, that means $10 will be used to enter a position. 
And depending on where the SL(placement of SL explained later), the relevant lots will be entered accordingly. On the same example if I input as 0.25%, only $2.50 will be risked. 
But what happens if the SL is way too large? Lets look at an example.
Lets say for example I had input 0.1%. that means only $1 can be risked. But if for example on EURUSD, the SL amounts to 200 pips. And universally, for one micro lot pip movement on EURUSD, it is 10 cents. So if I have a 200 pips SL, that is equivalent to $2. And the minimum that can be risked is only $1. 
In the above example, DO NOT ENTER THE TRADE AND SKIP THE TRADE. 
NOTE THAT WHEN WE ARE CALCULATING THE SL IN NUMBER OF PIPS, ALWAYS ADD THE SPREAD AS WELL. 
So using the same example, in the above example my SL was 200pips, but the spread at the time of entry was 1 pip, then the actual pips counted would be 201pips. 
[image: ]
An example is as such. Here 0.25% is entered. On the right hand side, the lots are calculated according to the SL. 
Note that the amount of leverage affects the amount of lots to be entered as well. BUT WE ARE ALWAYS USING MAXIMUM LEVERAGE TO ENTER ALL POSITIONS. 

[bookmark: _Toc134283468]Emergency close-out
This is the 2nd most important thing. 
[image: ]
The equity is being referenced here. 
On the inputs setting of the EA, an option has to be present asking, “use emergency close-out?”. And an option to select yes or no should be present along with the % of equity lost triggered.
If yes is selected, depending on the % entered in inputs, if the amount is breached, all trades are to be immediately closed and no further trades are to be entered.
So for example if I have 200usd, and under inputs I had put 10%. If any point in time, my equity drops more than 10%, so meaning to say, if my equity touches 179USD, immediately close out all positions and do not enter anymore trades and delete all the lines on all charts! 
there has to be some sort of a reset button available though, so if this is triggered and I hit 179USD, if I press reset, the new equity being trailed now is 179USD. But this should require the user to manually press reset. 
Also the equity is always being trailed from the highest equity reached. If I had reached 250USD, and I have 10% entered, that means I cannot lose more than 25USD, my equity cannot go below 225USD. 

[bookmark: _Toc134283469]any other inputs as deemed necessary by programmer
Self-explanatory. The programmer is to include any other inputs as deemed necessary. 

[bookmark: _Toc134283470]TECHNICALITIES
The following are necessary to understand in order to understand how the EA works. 
[bookmark: _Toc134283471]DEFINING A SWING LOW/HIGH
Before we proceed to identify what to scan for, first we need to define a swing high/low. 
· A swing low is a low of a candle, with at least 2 candles to its left with higher or equal low and 2 candles to its right with higher or equal lows. 
· A swing high is a high of a candle, with at least 2 candles to its left with lower or equal high and 2 candles to its right with lower or equal highs. 
[image: ]
The red and green arrows are all valid swing highs and lows. Some examples are as shown above. 
[bookmark: _Toc134283472]Fair value gaps
This is simply a 3 candle pattern. We need to observe 3 consecutive candles. The 1st candle and the 3rd candle will not be touching each another. 
[image: ]
For example here in the above situation, we have a bearish FVG (fair value gap). We can see that in candle 1,2,3, candle 1 does not touch candle 3. 
[image: ]
In the same image, we have a bullish fair value gap. Candle 1 does not touch candle 3. 
[image: ]
These 3 candles are not fair value gap. Because the high of candle 1 and the low of candle 3 are touching each another. 
NOTE THAT THE COLOUR OF CANDLES 1,2,3 DOES NOT MATTER. THEY CAN BE BEARISH/BULLISH. 
[image: ]
For example here, candle 1 and 3 are bearish candles and they don’t touch each another. This is still a valid FVG (fair value gap).

[bookmark: _Toc134283473]lines drawn on chart
[bookmark: _Toc134283474]Where to enter?
There will be trendlines drawn on the chart manually by the user.
[image: ]
Referring to this. trendlines.  
[image: ]
For example, a red and blue trendline is drawn here. As an additional note, the trendlines will always be perfectly straight. It will not be diagonal. When it is touched, we enter a position if certain criteria are fulfilled. 
· IF WE ARE COMING TO A LINE THAT IS BELOW CURRENT MARKET, LIKE EXAMPLE AT THE RED LINE, WE LOOK TO BUY.
· IF WE ARE COMING UP TO A LINE THAT IS ABOVE CURRENT MARKET, THEN WE LOOK TO SELL. FOR EXAMPLE, THE BLUE LINE.
Note that the line has to be touched when considering positions. It’s the line that is of concern and not the price level. 
[image: ]
The line at A was never touched here, so no trade. 
[image: ]
This is considered line touched so a long trade can be considered.

[bookmark: _Toc134283475]When to delete lines?
There will be only 3 scenarios where a line is deleted.
[bookmark: _Toc134283476]Scenario 1 – A trade is entered
If a sell trade is entered, delete all lines above current market price. if a buy trade is entered, delete all lines below current market price.
[bookmark: _Toc134283477]Scenario 2 – The line has been cleared
What does cleared mean? Lets look at a buy example. We are simply going to be using fractals aka swing highs/lows for this. Note that for swing highs, we are looking at 2 candles to the right and 2 candles to the left of a swing point. 
[image: ]
Imagine we are looking at that black line. Prices trade below it and we’re looking for buys. We look for swing lows. The moment 2 swing lows are traded through, the line is deleted and we don’t look for buys anymore. *note that the 2 swing lows, the 2nd one has to be below the first one, it cannot be equal lows.
[image: ]
In this example, swing point 1 and 2 were created below the line, once swing low 2 is traded through the line is deleted. Simply look for swing highs if we are coming up to a line looking for sells.
[bookmark: _Toc134283478]Scenario 3 – Another selling or buying line is touched
This is fairly obvious.
[image: ]
Line A is deleted when B is touched. And line B is deleted when C is touched. 
[image: ]
If line B is touched, line A is deleted. Line C and D will still stay on the chart even when line A and b is touched though. Because C and D is selling lines and not buying lines. A and B are buying lines. 

[bookmark: _Toc134283479]How to enter – market execute 
The idea is to enter using the fair value gap (FVG) that was explained earlier. Distinguishing between a bearish and a bullish fair value gap is very important here. Once again just to re-iterate, 
[image: ] 
The above is a bearish FVG.
[image: ]
And this is a bullish FVG. 
Whenever market is coming down and touching our line, we are going to look for bullish FVG to buy. whenever market is coming up and touching our line, we are going to look for bearish FVG to sell.


[image: ]
Lets say for example that a line has been drawn. We are coming up to touch it, so we are going to look for a bearish FVG. 
[bookmark: _Toc134283480]Logic flow
Lets look at the entire logic flow first and then each step will be explained in detail. Note that one line, only one trade to be taken, once a trade is taken, the entire line is deleted and not relevant anymore.
· Step one – find a reference range
· Step two – wait for the range to be traded through.
· Step three – Is there FVG inside our reference range?
· Yes. Proceed to step 3A
· No. Proceed to step 3B
	Step 3A
(FVG present inside range)
	Step 3B
(FVG NOT present inside range)

	How many FVG are there inside range?

· If there is only one FVG - Use entry model A
· [bookmark: _GoBack]If more than one FVG – Use entry model A for extreme FVG and entry model B for any other FVG

	If bullish, high of reference range taken. 
If bearish, low of reference range taken.

If FVG forms passing through the line, Entry model C applied. Explained later. 




And that’s about it. 
Note that regardless of entry model A, B or C applied, 1 line only one trade taken. Before looking at each individual step, lets look at entry model A and B first. C will be explained later. 
[bookmark: _Toc134283481]Entry models A and B
[image: ]
We have a bearish FVG here. Candles 1 and 3 are not touching each another. Lets imagine we are looking to short here.
	Entry model A  

	Entry model B 


	When price trades one tick above candle 3:

· Wait for prices to touch high of candle 3 again and sell. Market execute. 
· If prices trade above candle 1 before touching high of candle 3 again, no trade is to be taken.

Stop loss to be placed on top of candle 1. 

	When price trades one tick above candle 3:

· Wait for prices to trade below the low of candle 3 and Market execute. 
· If prices trade above candle 1 before touching low of candle 3 again, no trade is to be taken.

Stop loss to be placed on top of candle 2. 




Reverse the entire process for a bullish FVG. Now lets look at all the individual steps.

[bookmark: _Toc134283482]Step one – find a reference range 
The very first question to ask would be where to find for the FVG? We are going to take reference from a certain range here. 
From the candle that touches the line, we are going to reference the candle that has made the highest high. If another candle makes another higher high, that new candle is referenced now. *this would go on until the line is invalid. For example if 2 swing highs form above the line and prices trade through it, then its deemed invalid.
[image: ]
For example, candle A would be referenced initially. Then candle B makes a higher high, candle B is to be referenced. Then candle C makes a higher high, candle C is to be referenced now. So from candle C, we are looking back to find the first red candle. 
[image: ]
Candle D is our first red candle. And we are looking for the next green candle. 
[image: ]
Candle E is the next green candle. So in order to find the reference range now, we take the highest high made at C and we take the lowest close of red candle/candles between C and E.
[image: ]
The red candle with the lowest close would be candle A. 
[image: ]
So this is now our reference range. This need not be drawn on the chart, I’m just shading it for illustrative purposes.

[bookmark: _Toc134283483]Step two – wait for the range to be traded through.
This is simply when the range is traded through. Note that a close of candle is not required, just trading through the range is fine as well.
[image: ]
So when that last candle trades through the reference range, step two is done. 

[bookmark: _Toc134283484]Step 3A – (Fair value gaps) present inside the range
[image: ]
Lets zoom in on the same range. We see 2 smaller shades where there were FVGs. In this range there were 2 FVG. As denoted by A and B. 
now for a critical rule:
· the most extreme FVG, in this case FVG A – always apply entry model A
· Any other FVG – apply entry model B
· Note that the logic has already been programmed that only 1 FVG will give an entry! 
In this example, we can see that entry model B would have been applied on FVG B. 
[image: ]
When prices traded below the low of candle 3, a short would have been taken and stops placed above candle 2. That’s it. 

Lets look at another example. A simpler one. 
[image: ]
Lets say we are hitting a blue line and looking for sells. Lets trace back and find our reference range. 
[image: ]
The green arrow points to the lowest red candle close of the important candle. 
[image: ]
So this is our reference range now. [image: ]
Lets look for bearish FVG. Do we have a bearish FVG? Yes we do. Candle 1 and 3 are not touching each another. And also, we only have one FVG inside this reference range. So we apply entry model A to the extreme FVG. remember the extreme FVG, always apply entry model A.
So once price ticks 1 tick above candle 3 high and comes back down to touch it we market execute sell. But remember if we take out candle 1’s high, everything is null and void. Here we didn’t, and we will have a short trade. 
And the stop loss will be above candle 1. 
lets look at another example.



[image: ]
Lets say we are trading through that line and looking for sells. The highest high made is candle A. lets find our reference range.
[image: ]
Between A and B would be our reference range, and the lowest red candle close is as shown. Price trades through it on the last few candles. 
[image: ]
When we zoom in on that area, we can see that we have 2 bearish FVG! Which one do we use? 
· For FVG A – apply entry model B
· For FVG B(Extreme FVG) – Apply entry model A
Here the first FVG is not triggered and we go further up and hit B. 
[image: ]
When prices trade below the high of candle 3, we enter short and put stop loss above candle 1. As per entry model 1. 

Lets say hypothetically, there were 4 FVGs in our entry area. (I’ve never seen 4 in my life before, the most I have seen is 3).
[image: ]

We are touching that green line and imagine A is our important candle low. Once we trade below it, all the green boxes above are our bearish FVG. 
[image: ]
So imagine we have 4 FVG. 1,2,3,4. 
· For FVG 1,2,3 – apply entry model B
· For FVG 4 – apply entry model A
Following the logic, if we get triggered into an entry at maybe say FVG 2. Then 3 and 4 is irrelevant already. Coz remember, one reference range, we only take one trade. 


[bookmark: _Toc134283485]Step 3B – if no FVG inside reference range
Entry model C will be introduced here.

[image: ]
Lets say we are hitting that yellow line. 
[image: ]
The lowest bearish candle close is that blue line. 
[image: ]
So that is our reference range. If we notice properly, there is no FVG present in this range. H denotes high of range and L denotes low of range. This is the only situation where we proceed to step 3B. FOR STEP 3B, WE PAY ATTENTION TO ONLY THE LOW OF RANGE WHERE ITS DENOTED WITH L. 
[image: ]
The low of the range, has to have the 3 candles FVG pattern. Here we did as denoted by candles 1,2,3 when passing through the line. Keyword is passing through the line. 
So when prices trade above candle 3 and touches the high of candle 3, without taking out the high at 1, we can sell short. 
But remember, a bearish FVG has to be present, passing through that blue line. It can either be candle 1,2,3, doesn’t matter, as long as it passes through the blue line aka low of range. 

Lets look at a bullish example now. 
[image: ]
Example we are hitting the blue line. Lets identify our reference range. 

[image: ]
Green arrow points to the highest close bullish candle. And as of last candle, there is no bullish FVG in the range. So skip step 3A and go to step 3B.
[image: ]
The green line is the high of our reference range, and we look for bullish FVGs passing through it. Keyword once again is passing through. 
[image: ]
Here candle 1 passes through the high of range. A bullish FVG present and we can look for a trade. Once prices trade below low of candle 3, and touches the low of candle 3 again without taking out the low at 1, we can enter long. 
Do we get an entry? No! 
Coz prices traded one tick below low of candle 3 and before trading back up and giving us a long entry. it traded below candle 1. so no entry!



Another example shown and in this example, we also explain until when we can look for a step 3B, entry C model. In other words, till when is the reference range valid?
[image: ]
Lets say we are hitting the blue line. And the green line is the high of our reference range. 
[image: ]
We trade through the high, and there is no FVG present so skip step 3A and go to step 3B. 
[image: ]
Shortly after, we have a bullish FVG passing through our blue line. See 1,2,3.
Is step 4 – entry model C vaild?
· Do we have a bullish FVG passing through our reference range high? Yes!
· Do we trade below candle 3’s low and give a long entry trading back above it before touching low of candle 1? Yes!
Ok a long entry can be taken with stops below candle 1. 
BUT THE MAIN QUESTION COMES NOW. UNTIL WHEN DO WE LOOK FOR AN ENTRY LONG? 
THIS IS WHERE FRACTALS COME INTO PLAY. We can keep looking for a long entry up until the fractal high before our reference range high is taken out. 
It means that,
[image: ]
Once our reference range high at A is traded through, where was the swing high before that? 
[image: ]
It was at candle B. if that is traded through,  and we still don’t have an entry long, then cancel everything. No trade is to be taken. 
But here we had the high of reference range being traded through before touching B, so an entry can still be taken.
[bookmark: _Toc134283486]other nuances and intricacies
[bookmark: _Toc134283487]Identifying correct reference range
[image: ]
If we were hitting a red line and looking for sells, where is the reference range? Yes the green line.
[image: ]
The two candles at A made equal highs with candle B. equal highs and not above candle B. So we still reference the high of candle B when looking for the reference range. 
[bookmark: _Toc134283488]THE FVG HAS TO BE “UNFILLED” WHEN CONSIDERING ENTRY
[image: ]
Lets say we are hitting that black line below. And we are looking for buys.
[image: ]
Blue line is where the highest bullish candles close was. Now the question is,
[image: ]
The FVG at A, is it still valid to look for a trade? NO!
[image: ]
COZ BEFORE WE TRADED ABOVE THE RANGE CANDLE’S HIGH, THE CANDLE B ALREADY WICKED BELOW AND FILLED THE ENTIRE FVG. 
[image: ]
Meaning to say that candle B already touched the high of candle 1, so that FVG is invalid. 
But what if candle B did not touch the high of candle 1? And say maybe stopped around mid-point of candle 2? 
THAT WOULD MEAN THE FVG IS NOT COMPLETELY FILLED AND A TRADE CAN STILL BE TAKEN FROM THERE. Step 3B can still be applied if this was the case.
Even if candle B stopped 1 pip short and didn’t touch the high of candle 1, the FVG is still valid. It has to be completely filled to make it invalid.

[bookmark: _Toc134283489]no fvg inside range nor when trading through aka step 3A and 3B not applicable
Remember no FVG no trade. 
[image: ]
If we are hitting this black line, we’re looking for buys. 
[image: ]
A was the lowest low made. and the red line above was the reference range high. We trade through it and no FVG was found. No trade. Skip step 3A and lets see if a step 3B opportunity forms. 
Remember at least candle 1,2,3 that forms the FVG has to be touching the reference range high. 
[image: ]
If later on, we had candle 1,2,3 form a bullish FVG, this is not valid! Coz candle 1’s low is not touching the reference range high. Its not passing through, so not valid.

[bookmark: _Toc134283490]IMPORTANT RULES
1. If we are entering a buy order, close all existing sell positions! But don’t delete the lines above current market price! only delete lines below market price. For example, on EURUSD. we have a line to buy. and all conditions have been fulfilled and we have have entered a trade. But what if we are already in a sell position regardless of whether it is in profit or loss on the same EURUSD? The moment the buy order is entered, all sell positions are to be closed.

2. But what if we are already in a buy position and we get another line to buy? only buy at 2nd line if all existing buy trades have been moved to breakeven and are currently running in profit. If not, do no enter trade.  But of course do not close any buy positions. 

3. When placing stops, always factor in current spread. so wherever the current stop is, add the current spread when entering the trade. 

4. Note that the %ofbalance has to be also able to be calculated for gold, indices, and not only forex. U can refer to the trade assistant MT5 on MQL website for more insights on this.


[bookmark: _Toc134283491]A COMPLETE EXAMPLE
Lets now look at a buy example. 
[image: ]
A trades through the line. We trace back to find for the nearest green and red candle. We get that at C. next we mark the important candle. The highest green candle’s close. 
[image: ]
We trade through the high of the important candle and we have a FVG. See candles 1, 2 and 3.
FVG present so go to step 3A and forget about step 3B.
More than one FVG in the range, so apply entry model B for the above FVG and entry model A for extreme FVG if applicable.
candle 1,2,3. Apply entry model B. When price trades into the FVG below candle 3, we start looking for longs. Once price trades above candle 3, we enter longs and place stop below candle 2. 
And once we have a trade, we don’t look for anymore longs in this range. 
[image: ]
we would have done the same if we returned to the FVG at B or C applying entry model B.
there is an extreme FVG right at the bottom though. If we came to that, then we would have applied entry model A. 
BUT HAVING SAID THAT, ONE LINE ONLY GIVE ONE TRADES. REGARDLESS OF WHETHER WE TAKE A TRADE AT A,B, OR C, OR THE EXTREME, WE STILL DELETE THE LINE AFTER TRADE TAKEN AND DON’T TAKE ANY FURTHER TRADES. 

[bookmark: _Toc134283492]advice needed
This EA, should it be put on one chart that manages all other charts? Or would it be better if it is added individually to each chart? 
I’m looking at applying this to at least about 8 instruments. Will it be too laggy if I were to add it to each individual chart?
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